ONG

Worksheet #3 (Parallel Lines Cut by a Transversal)

Find the vaiue of x given thats //{

10. mZ4 =77°, M8 = 4% + 57

1. mZ£3 = 5x + 13, m£5 = 53°

12, msl =6x-8,ms7=115°

‘Name: : Date: Period:
Use the figure at the right to answer problams 1- 8.
Clésslfy each pair of angles as one of the following:
{q) dlternate intetior angles [t9) corrasponding angles '
9| M it Tﬂ:
(c) alternate exterior angles {d) vertical angles & : : 5
13 {44 15|18
() supplementary angles {f) none
1 L98& L16 5. £9& 213
2 L158 £11 o, £9 8 £L15
3. 2308 215 7. Z13 & 14
4, £128 215 8. £148 211
9. md2=97° msE=83° " n
. . 1‘\ 2 g / 5.,
ms3 = ms£4o = g \a 7/ 8
mzid = ms?7 =
_ < g \10 18714 .,
ms9 = msie = 11 \12 1:‘/ 16




Find the value of X that makes | |l k.

i ﬁ h Y] -

13:' ‘(3“107 >
' < ' (5:—-18)’>k

15, T . T :
jx° {Sx 15 1

Determine the missing angles.

17,

v

13,

A

A 4

18

20,

14, < /x wf\ >
/7

16.

I

-

P 7\.15( 4 10}: i

|

fg‘x ~ 2 ¢

v

v

122°

b 4

A
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Worksheet #3 (Pau allet Lines Cut by a Transversal}

9%

ns9 =

A

meto-_ V'

il \12

Find the vaiye of x given that s // {

10, mZA=TI% M8 = dx + 57
774-3’[
1. mZB=5x% 13, ms6 =50°
Sktz = 5%
2. mZl=6x- 5,?27 = 115°

1\5/15.

‘Name: Dates Pariod:
: 't figure at Ihe i htto ot rob!ams1 8.
Cléssify ezch pair of angies as one of the following:
" {a) diternate intetlor angles (b) corresponding angles ‘N
;B O 1 I £ 112
() alternate exterior angles {d) vertical angles 2 . 5
' ' 15.118
13 {14
{e) supplementary angles {f} none ‘
. W
1. Q L98% L16 5. ,5 £98& £11
2. 6 £158 211 6. E Z9 8 215
3 A Z30& 215 7. Z Z13 8 L14
4, E £12 8 A15 8 zx Z14 & 211
8.  mZ2=07° ms6=a3° Y “ S n 0\,\" n / %@,
O R ol
mz3 = mL£Ly =___ 3\s 1/ &
0 2
mz10 =M~ﬂ:l_ﬂ ms7 = % ‘ .
g\iB . 13/14 .




Find the valye of X that makes | Il k,
< /i

_ 13-' ™ (8 + 10

2 =18

1]
ES

“
= ]

14,

& (5x-10}°> K
Jxo = SKI0
-2 = -20

ixf— \ Ol : ' < ' {\pum);' : '
- 15 {:sx*/r {5x+15)“T> . 16. . / Xflo = L[)(-—-ZO '
J/ l =Ty A 2x -.—.: ~20)

[ x=-0]




